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Chel: 2iFE AN = (cre:xigl)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
M2 5,131,590 4,300,444 831,0%
= 15,000
- 5,116,590
MEHH Ak 25t 1,825,419 1,288,791 536,628
2Es SIHEM &E 40,008 74,210 A34,202
SA2)| I AHNE I BH 5,100 5,100 0
201 Ler23H| 5,100 5,100 0
01 AtR2elt] 5,100 5,100 0
O3S HA MPHME HEHIE
5,100,000& 5,100
&Zetotn §£98 3 29 29,212 39,630 A10,418
201 B2 AY| 24,972 36,010 A11,038
01 AtR2telt] 24,972 23,980 92
OZ AN (BUAN HEMS K&
100,000 702 7,000
OZ AL ALIAKN 10,000& *30% 300
O=010] D] #2 ZA20M
40,0003 1005 4,000
OZ4H & | 8,000 & x4 x50 1,600
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300,000& *15+180,000& x 15 480
OLI2tEH, SHIE ol2x2
200,000& =12 2,400
OH & XNE AF B2 el <
7,000 x2500 =128 2,100
O e E8Y
100,000& *7 B *33| 2,100
OHLEESIHAIAE FX2E
416,000& * 12& 4,992
203 PRF=&H| 3,000 3,000
03 A FRIHRFAIY| 3,000 3,000
OTHSR Dt A=A 2,500,000& 2,500
ONZMEZ L A2 500,000& 500
301 LB F 640 320 320
11 HALAHIXI A2 640 320 320
OZAZARE W0
160,000 *4H 640
307 2I2+01A 600 300 300
12 212t Et = H| 600 300 300
OZAZARE W= 150,000 *4Z 600
MAEC S5l 5,696 29,480 N23,784
201 B2 AY| 4,69 14,680 A9,984
01 AR2teld| 4,6%6 11,560 N6,864
O=E&23 2882
300,000 6 1,800




A HRN
3 NWRHAY S Hat
el ITE BIHEAN Y (12l M2
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SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O=8=3 HJ| ==& 500,000 <23 1,000
OXTIE D SS2eIAIAE RA24H]
158,000 122 1,896
206 M=H| 1,000 1,000 0
01 Mz bl 1,000 1,000 0
OXXIER bl 1,000,000& 1,000
SEMa 22 9,200 9,200 0
SHMEE ZAF - 2] 9,200 9,200 0
201 Zet2d] 5,200 5,200 0
01 AlR2telHl 5,200 5,200 0
OS=Mat 22l MEHI 4,000,000 4,000
OBSMArAIOlE &M ST
100,000 x4 & x32| 1,200
401 Al HIZL S 0HHI 4,000 4,000
01 AlZ8| 4,000 4,000
OS7Mat S 2el 4,000,000 4,000
SSEAL 2el 1,776,211 1,206,381 570,830
EE A SHEXY 1,776,211 1,206,381 570,830
201 Zet2d] 563,015 432,015 131,000
01 AlR2telHl 74,722 59,122 15,600
OFAL SIIEEI| "2A2el
20,0002 *36CH* 122 8,640
Ost&4A Hid X2
20,0002 «19CH* 122 4,560
OFAL ELZ2 UIOAFRDI FA22
500,000 42| 2,000
OulEe a2 Xz 600,000& 122 7,200
Osdll 88 E9++2
290,000 «2CH* 122 6,960
OPY Rl BALAE
210,000 * 122 2,520
OYstae 8 9+
350,000& 122 4,200
O+FeIAlL B2l 8A+2R
250,000 12 3,000
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500, 0002 x22| 122 12,000
OZADIA HEEHr= 180,000& 180
OBHMAIID], HYI| IBA=2
3,500,000& 3,500
OFA MBisT =8 242
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1,300,000& «12& 16,600
OFAIIAE AL 2 & W FH
26,0002 26
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A HRN
3 WRAY g Hat
Rl SSEAL 2t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFZLXED| sAl2el
4,000,000& *6CH 6% 1,440
OFA £2(FIIJIANLE RTZ2
50,000,000 6% 3,000
O=geis HEZH sX2cl
100,000 * 10CH 1,000
OEgd - 2uel M= 2 FA2el
2,500,000& %12 2,500
OFgd 43| 72
60,000, 0002 *2CH*6% 7,200
OtHZ4H| |2t 55,050,000 6% 3,303
OFAAE FAl2c 23,000,000 23,000
206 MH=Hl 27,616 27,616
01 MZH| 27,616 27,616
AHMAM(EEtE 2 F MAH2)
1,000,000 %1t 1,000
Odg A=A 50,00021%40 £ 2,000
O&Jl & JIH 25T 6,100
olED M5HEEX 50,000 *50K 2,500
oI BHE X S FIIM
3,000,000 3,000
ostMEXII, LiH=rEsS & 28I
600,000 600
Oztatatzte] 12,000
S=1=Ikx 10,0002 #2000+ 12 2,400
> Z0IetE 20,0002 x40 = 12& 9,600
Odz4a=H 2e
4,500 0 +6 4+ 122 2,916
ogd A 300,000& * 122 3,600
207 ARl 1,000 800 200
01 A1ESH| 1,000 800 200
OFAL BAESS FIITAL
1,000,000& %12 1,000
307 @120l & 475,980 475,980
05 eit?(& = 475,980 475,980
O&EA EAa2el 9
30,604,941 128 475,980
401 Al HIZL 201 708,600 265,420 443,180
01 Al&H| 708,600 265,420 443,180
OFAAE =HSA 12,000,000 12,000
OFA -8 dHLEH| HESA
350,000,000 x 14 360,000
OFAF HHIA 15,000,000& 15,000
OE24 A8 MAHSA 100,000,000 100,000
OFEAL @E=XlAIE W JII91 HMSA
9,000,000 %14 9,000
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A HRN
B eHE o Us)
Rl SSEAL 2t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&AL XIotS 2t WMSAH
50,000,000& » 14 50,000
OFAF HAESSAHEH E4
145,400,000 145,400
OFAL HEE2ZSAENA B35 &4
27,200,000 27,200
tE2e) 41,000 43,276 N2,276
= 15,000
- 26,000
dtE2e| 41,000 43,276 N2,276
= 15,000
- 26,000
HESAIXIIH & 41,000 43,276 N2,276
= 15,000
T 26,000
201 er23 | 40,000 42,276 N2,276
= 14,500
- 25,500
01 At2teltl 40,000 42,276 N2,276
OMESAIXIL &t s K& 2,200
oAR2E FY 1,500,000 1,500
= 750
- 750
=il 8,000 x2541x1H 200
= 100
T 100
oflL, Y2 S 250,000 *23] 500
= 250
- 250
(@)= =R 36,000
=1. 1. JIE 45,8002 11,4782 X1/16.4193 32,017
= 1,117
T 20,900
o7. 1. JIE 45,8002 143& XI%50%+30% 983
= 341
- 642
oolANE, 012AHE
45,8003 x 1312 X[ *50% 3,000
= 1,042
- 1,958
ORStIASAI?IE B&+E
100,000 6 *32] 1,800
= 900
- 900




2A MR
m: JHe
ol HE22| (St &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
202 Ot 1,000 1,000 0
= 500
- 500
01 =WHO4 bl 1,000 1,000 0
OMESAIXIIE ZAF (4HI
20,000 =150 1,000
= 500
- 500
ANE 234 SHEe =4 1,920 1,420 500
HEE 234 =S =4 1,920 1,420 500
SIS Set A& SHES A48 1,920 1,420 500
201 L2 | 1,920 1,420 500
01 AtR2telt] 1,920 1,420 500
OBNYR B2 A2 M
1002 *3,200& 320
OBNHYS B2 49t M
60,000& *5JH+23] 600
OMNSBISOHAL SRISHALS MIZE
10,000& *50JHK 500
OMLBUSIHAF HHAILD Ol NS
500,000& *13] 500
23t =& 1,160,584 870,654 289,930
My Y X2HLES 1,160,584 870,654 289,930
HEHSAAEO OHEAN 222 341,502 326,052 15,450
201 L2 | 197,525 183,747 13,778
01 Ar22eltl 197,525 183,747 13,778
OEXNEEAAH KXzl
71,350,000 *8%t53, 000, 0002 * 10% 11,008
OZESAIEH RAl2a
312,568,260 6%t 122,820, 4002 +5%+ 10/ 1204 &
23,872
OUIERIR EZHOUAIAE sXI2el
74,030,000 *10%+2, 310,000 *10%+8/ 124 & 7,557
OZBLoHEHl |RAl22 18,664
o SEIEoHE |
151,562,280 *8%t2,315, 280 +8%+8/ 120 &
12,249
B ALRIAAE ASSAH|, &IESHH
80, 177,500 x8% 6,415
OFUHE MEIA Sote|AlA SX2el
26,800,000 *10% 2,680
OB HZHHAIAE X2
98,439,830 *10% 9,844
OSZ J22IAAE X2
4,350,000 »8%t52, 662, 850 *10% 5,615
OClAZ DSUMAAIAR K2
96,266,000 *8% 7,702
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A HRN
Hm: mYs A
el Sy 2 N2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXXHATZ )M SR
53,070,860& *10% 5,308
OMS™E oEe HEHE &34 |2
cl 27,500,000 *10% 2,750
OSHIOIX HAFLEHSAAE FX|2e
18,187,960 «10%t4,501, 7702 8% 2,179
Odite S EHI 2| AAE FXl2l
26,265,000 8% 2,102
OX2FELXIAIAE(0R) |22
32,785,080 +8%t105,225, 150 *12% 15,250
OPCE M EAIAE K22
14,266,600 *10% 1,421
ORI 2t AIAE |2l
15,510,000 *10% 1,551
OMIEEES ZLIHE AIAE |2t
9,700,000 x741%10f% 6,790
O™ A&HHI(PC) RAI2te] 30,984
o20238 =&
206,009, 7002 «6%+6/ 1204 2 6,181
=2019~2022F =&
86,040, 287 & +6%+3/ 1204 2+391,870, 900 *6%
24,803
OSHIOIXNAIAY =Xl2t 28,620
o ZMHOIXl SW 210, 156,000 *10% 21,016
S EHOIXI JHarSHAI A E (HN/SI)
64,352,000& *8%+20, 460, 0002 *12% 7,604
ogzgsll ;A2 46,728,490 8% 3,739
OFAA RFFFLAZYI(IPS) K22
33,075,810& 8% + 32,907,000 *8% 5,279
O=2-Lict Mol S2AIAE FA 2
44,000,000 *8% 3,520
O2-Lict HSAHMH FAl2cl
13,550, 0002 *8% 1,084
308 AtXIEMSOIE 143,977 142,305 1,672
183 SIS U B 4 HASAIE 143,977 142,305 1,672
OSSIIEAIAE & HoHSPAIAE KX
2l 91,355,000 91,355
OMSHBAIAE NBUEH ST
6,950,000& 6,950
O2Li2tAAY 29 45,672
o2LIctAAE 2EXE
7,800,000& 7,800
o2LICtAIAE MAEHI(HN/SH) [XI2te]
37,872,000 37,872
23t Il At & | &5 725,242 465,142 260,100
201 fer23| 105,490 101,732 3,758
01 AtR2t2|HI 64,570 64,760 A190




2A MR
L RS
o2 33 2 XNEZES; (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
oges ATEY N 7 55,770
oMSLI|A 2021 419,000& 802 33,520
ogt= 2022 89,0003 x250= 22,250
OdAEH 25 72 ¥ SFFEL 22 8,000
SHMFY FIECIAT S 42
150,000& *23] x 12& 3,600
oal - It (L) BE % F|
1,000,000 *33| 3,000
oXZWHZE HIOIZ 100,000& * 1004 1,000
oPC&2|E ctEHI0IZ 20,0002 2004 400
OHEFLY 2Hxx D)
8,000 & x5 x20 800
02 33244l 40,920 36,972 3,948
OeEEFEEY 23| 40,920
oFHEINAZL L, OHHZE 2 M
36 MEE 600,000 23| &+ 123 14,400
oRFHSHAX DA MESH AIES
250,000 x13| &+ 122 3,000
SRHoWA|ER FHRIMH AIBE
30,000+ 13| &+ 122 360
CRHOBMSED HASHADSS5IY
ATIXJHEH dE23H AMEZ
450,000 +33| &+ 128 16,200
ocfdozE UISHYHH, 382 3
otsE MRBIM AER
230,000 22| &+ 123 5,520
ocDIAA HESIWEE S E8RAUI|A
EIFaPNR=1=3 30,000 x43| &+ 12& 1,440
403 REXISHIS K201 & 498,752 0 498,752
02 ST 2 SOHE =2 ERIEFAIS I 498,752 0 498,752
O2Liet SMAIAE 2.0 25
498,752,000 498,752
405 Kt S| 121,000 363,410 A242,410
01 ML =EFSHI 121,000 363,410 A242,410
Og2E PC WA 116,000
oPCEHX| 1,200,000 *80CH 96,000
oZLIE 250,000 *80CH 20,000
O3 SAasE FEEHEH 7 5,000
o Y5t 2,500,000 14 2,500
SUHIE/IEZHMAHAIAE(NAC) L&
2,500,000 14 2,500
83 OIS =it 23,380 58,500 A35,120
201 L2 | 23,380 24,200 AB20
01 At 22|l 20,000 20,320 A320
O=8 OXNESH2ds W=x
17,400,000 17,400
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A HRN
A HZYRIZHI(HRH)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF A& 43,903
oJl2a 2,533,950 x 123 30,408
oI ESH 20,0002~ 122 240
oAH+E 20,0002~ 12& 240
oFASAH 140,000~ 12& 1,680
oHESIHI 2,533,950 *80% 2,028
oAlleResd
14,1063 150%+284A1 2t 6,010
SRSPNER=EoPl RSy 112,8482 » 18 2,032
odtati= 3,327,480 x38% 1,265
=34 58,734 53,406 5,328
SAI1=23H] 58,734 53,406 5,328
201 Ler=23 | 10,206 10,206 0
01 At2teltl 10,206 10,206 0
ORKNE2g JlE=+8Hl 279,0002 18 5,022
OJ|2g =8 =&l
8,000 x34!x18Z * 12 5,184
202 04| 44,928 38,880 6,048
01 SLHoIH 44,928 38,880 6,048
OJi2g2+8 0yl
260,0002 x 18 « 122 +80% 44,928
203 HR=AH] 3,600 3,600
MU A2 LRFAI 3,600 3,600
ORNEHZY 300,000 x 12 3,600
Wees (M) 2,000,030 2,000,080 A50
WA XIE 2,000,000 2,000,000 0
AFEAL HEDI= =4 2,000,000 2,000,000 0
@R I1sdES 2,000,000 2,000,000 0
01 oIsd8Es 2,000,000 2,000,000 0
OXMEANAED IS &S
2,000,000,000& 2,000,000
SHENEOHES AL &) 30 80 A50
2Xx3 gtE=s 30 80 250
802 gratsJIEt 30 80 A50
01 =2N2xSeE=s 30 80 A5
OMESAIXI DAL 30,000 30
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